Run 4547 quartetwise, Asyms0 (Raw): All

quartetwize_asymi
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Run 4547 quartetwise, Asyms0 (Raw): Beam ON, Laser ON
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Run 4547 quartetwise, Asyms0 (Raw): Beam OFF
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Run 4547 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF

cuanchwisa kaami lasd asymi
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Run 4547 quartetwise, Diffs0: All = Run 4547 quartetwise, Diffs0: Beam OFF
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Run 4547 quartetwise, Diffs0: Beam ON, Laser ON Run 4547 quartetwise, Diffs0: Beam ON, Laser OFF
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Run 4547 quartetwise, NegHelAccO/NSamples0: All = Run 4547 quartetwise, NegHelAccO/NSamples0: Beam OFF
quartetwize_negHQ — quanebwise_beamd_neghD
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Run 4547 quartetwise, NegHselAccl/NSamplesl: Beam ON, Laser ON Run 4547 quartetwise, NegHelAccl/NSamples0: Beam ON, Laser OFF
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Run 4547 quartetwise, PosHelAccO/NSamplesO: All = Run 4547 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 4547 quartetwise, PosHelAccO/NSamplesd: Beam ON, Laser ON Run 4547 quartetwise, PosHelAccO/NSamplesO: Beam ON, Laser OFF
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Run 4547 quartetwise, Sums0: All = Run 4547 quartetwise, Sums0: Beam OFF
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Run 4547 quartetwise, Sums0: Beam ON, Laser ON Run 4547 quartetwise, Sums0: Beam ON, Laser OFF
auanchwiza baaml las? summi auanctwisa baam1 lasd summi
iI— - 1 = n N Entries 8 30— Entries 585
| Mean 24.01 ~ Mean 1413
| Std Dev 0.4773 | Std Dev 0.2703
B 25— |
0.8 ~
l 20—
06— -
- 15—
04— - )
B 10— -
0.2}— u
| 5_—
'Dl_lllllllll"'l"' 1 I N T T N T O T A A 1 P D‘.IHI‘I.II’I..I...I...I...I...I...I...|-|TI-|I'I|I||I'I|I|
23.4 236 23.8 24 24.2 24.4 24.6 24.8 25 13.2 134 136 138 14 142 144 146 148 15 15.2

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSamplesO - PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSamples0



